
Prof. Haiman Math 1A—Calculus Fall, 2006

Quiz 12 solutions—version A

Name Student ID Number

1. Compute the definite integral ∫ π

0

| cos x| dx

Break the interval of integration into two pieces according to the sign of cos x:∫ π

0

| cos x| dx =

∫ π/2

0

cos x dx +

∫ π

π/2

(− cos x) dx

= sin x]π/2
0 − sin x]ππ/2

= 1− (−1) = 2.

2. Find the derivative f ′(x) of the function

f(x) =

∫ √
x

0

tan u2 du

Let g(x) =
∫ x

0
tan u2 du. Then g′(x) = tan x2 by the fundamental theorem of calculus.

Since f(x) = g(
√

x), we get f ′(x) = (tan x)/(2
√

x) by the chain rule.
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